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1. vlfedk 2 5 3x x    lR; gksxh] tc %

(a) 5 2
2

x    (b) 8 5
3 2

x   

(c) 7 2
2

x    (d) dksbZ ugha

2. ;fn lehdj.k
   2 2 2 21 2 0n x ncx c a     ds ewy cjkcj
gksa] rks %
(a) 2 21c a  (b) 2 21c a 

(c) 2 2 21c n a   (d)  2 2 21c n a 

3. lehdj.k (a + b + x) = 1 1 1a b x     ds ewy D;k
gksaxs %
(a) a, b (b) – a, b
(c) a, –b (d) –a, –b

4. 0 0 0 0tan 4 tan 43 tan 47 tan 86 dk eku D;k gksxk %
(a) 2 (b) 3
(c) 1 (d) 4

5. ;fn 2 2 2 2sin 20 sin 40 sin 50 sin 70    dk
eku P gks] rks P gksxk %
(a) 0 < P < 1 (b) 1 < P < 15
(c) 1.5 < P < 2 (d) P = 2

6. 2 0 2 0 2 0sin 1 sin 2 ... sin 89    dk eku gksxk %

(a)
111
2 (b) 11 2

(c) 11 (d)
11

2

1. The inequality 2 5 3x x    holds when :

(a) 5 2
2

x    (b) 8 5
3 2

x   

(c) 7 2
2

x    (d) None

2. The equation
   2 2 2 21 2 0n x ncx c a     will have
equal roots if :
(a) 2 21c a  (b) 2 21c a 

(c) 2 2 21c n a   (d)  2 2 21c n a 

3. What are the roots of equation (a + b + x) =
1 1 1a b x   

(a) a, b (b) – a, b
(c) a, –b (d) –a, –b

4. The value of 0 0 0 0tan 4 tan 43 tan 47 tan 86 is :
(a) 2 (b) 3
(c) 1 (d) 4

5. If P is the value of
2 2 2 2sin 20 sin 40 sin 50 sin 70    then P is :

(a) 0 < P < 1 (b) 1 < P < 15
(c) 1.5 < P < 2 (d) P = 2

6. The value of 2 0 2 0 2 0sin 1 sin 2 ... sin 89   is :

(a)
111
2 (b) 11 2

(c) 11 (d)
11

2

PART - I
MATHS
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7. ;fn 0cosec 39 x  rks
2 2 0

2 2 0 2 0

1 1sin 39 tan 51
cosec 51 sin 51 sec 39

  

dk eku gksxk %

(a) 2 1x  (b) 21 x

(c) 2 1x  (d) 21 x

8. fuEu dFkuksa ij fopkj djsa %
1- tan sin ls rst c<+rk gS] ds c<+us ijA
2- sin  + cos dk eku 1 ls cM+k gksxk %
mijksDr dFkuksa esa dkSu lk dFku lgh gS %
(a) dsoy 1 (b) dsoy 2
(c) 1 ,oa 2 nksuksa (d) dksbZ ugha

9. ;fn ds fdlh eku ds fy, 2 4sin cosA    
rks A gksxk %

(a) 1 2A  (b)
3 1
4

A 

(c) 13 1
16

A  (d) 3 13
4 16

A 

10. fuEu fp= esa ;fn O oŸ̀k dk dsUnz gks rFkk P ij AC
rFkk BD izfrPNsn djsA ;fn AOB = 1000 rFkk
DAP = 300 rks APB = ?

E

D C

B

O

A

P

(a) 770 (b) 800

(c) 850 (d) 900

7. If 0cosec39 x  then value of
2 2 0

2 2 0 2 0

1 1sin 39 tan 51
cosec 51 sin 51 sec 39

   :

(a) 2 1x  (b) 21 x

(c) 2 1x  (d) 21 x

8. Consider the following statements :
1. tan  increases faster than sin  as  increases
2. The value of sin  + cos  is greater than 1.
Which of the above statement is correct :
(a) 1 Only (b) 2 Only
(c) Both 1 and 2 (d) None

9. If 2 4sin cosA      for any value of  then the
value of A is :

(a) 1 2A  (b)
3 1
4

A 

(c) 13 1
16

A  (d) 3 13
4 16

A 

10. In the figure given below O is the centre of circle.
AC & BD intersect at P. If AOB = 1000 &
DAP = 300 then APB = ?

E

D C

B

O

A

P

(a) 770 (b) 800

(c) 850 (d) 900
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11.            

F

110
0

D

550

A O E

C

B

mijksDr fp= esa ;fn AB oŸ̀k dk O;kl gks rFkk O
oŸ̀k dk dsUnz gSA ;fn EC = ED, rks EFO = ?
(a) 150 (b) 200

(c) 250 (d) 300

12. ;fn D ABC  ds Hkqtk BC ij ,d fcUnq gS tgk¡
AD = AC rks] fuEu esa D;k lR; gS %
(a) AB = AD (b) AB < AD
(c) AB > AD (d) dksbZ ugha

13. ;fn pUnzek dk O;kl iF̀oh ds O;kl dk ,d pkSFkkbZ
gks] rks pUnzek dk vk;ru iF̀oh ds vk;ru dk
fdruk xquk gksxk %

(a) 64 (b)
1
64

(c) 32 (d)
1

32

14. ,d unh tks fd 3 eh- xgjh rFkk 40 eh- pkSM+h gS 2
km/h dh nj ls cg jgh gS] rks ;g leqnz esa ,d
feuV dh nj ls fdruk fxjsxh %

(a) 2000 m3 (b) 3000 m3

(c) 4000 m3 (d) 5000 m3

11.            

F

110
0

D

550

A O E

C

B

In the fig. above, AB is diameter of the circle
with centre O and EC = ED, EFO = ?
(a) 150 (b) 200

(c) 250 (d) 300

12. If D is a point on side BC of ABC  such that
AD = AC then what is correct in the following :
(a) AB = AD (b) AB < AD
(c) AB > AD (d) None

13. The diameter of moon is one-forth of the
diameter of earth. What fraction of volume of
moon is  the volume of earth :

(a) 64 (b)
1
64

(c) 32 (d)
1

32

14. A river 3m deep and 40m wide is flowing at rate
of 2 km/h. How much water fall into the sea in  a
minute :
(a) 2000 m3 (b) 3000 m3

(c) 4000 m3 (d) 5000 m3
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15. The total area of the following figure is :

40 m

9 m 15 m

CB

28 m DA

(a) 206 m2 (b) 306 m2

(c) 106 m2 (d) None

16. In the following figure find BAC  :
A

1300

O

B

E
D

20 0

C

(a) 1000 (b) 1100

(c) 1200 (d) 1300

17. If the equation of line is given by the equation
3 4 10x y   then the equation of perpendicular
to it’s at point (1, 2) will be :
(a) 4 3 8x y  (b) 4 3 5x y 
(c) 4 3 3x y   (d) None

18. The line 4 10 10x y   is parallel to the line
3 5x By   then B will be :
(a) 3 (b) 4
(c) 5 (d) 6

19. If the one end of diameter of circle is (5, 4) having
centre (2, 3), then other end will be :
(a) (1, –2) (b) (–1, 2)
(c) (1, 2) (d) (–1, –2)

15. fuEu fp= dk dqy {ks=Qy gksxk %

40 m

9 m 15 m

CB

28 m DA

(a) 206 m2 (b) 306 m2

(c) 106 m2 (d) dksbZ ugha

16. fuEu fp= esa BAC  gksxk %
A

1300

O

B

E
D

20 0

C

(a) 1000 (b) 1100

(c) 1200 (d) 1300

17. ;fn 3 4 10x y   fdlh js[kk dk lehdj.k gS] rks
blds yEc js[kk dk lehdj.k fcUnq ¼1] 2½ ij
gksxk %

(a) 4 3 8x y  (b) 4 3 5x y 
(c) 4 3 3x y   (d) dksbZ ugha

18. ;fn js[kk 4 10 10x y   js[kk 3 5x By   ds
lekarj gks] rks B gksxk %
(a) 3 (b) 4
(c) 5 (d) 6

19. ;fn òŸk ds O;kl ds ,d fljs dk funsZ”kkad ¼5] 4½ gks
ftldk dsUnz ¼2] 3½ gks] rks nwljs fljs ds funsZ”kkad gksaxs %
(a) (1, –2) (b) (–1, 2)
(c) (1, 2) (d) (–1, –2)
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20. How many diagnol will be there in an 7 sided
regular, polygon :
(a) 11 (b) 12
(c) 13 (d) 14

21. The incentre of a triangle formed by (0, 0),
(4, 0) (0, 3) :
(a) (1, 1) (b) (1, 6)
(c) (6, 1) (d) None

22. The median AD of a ,ABC  is bisected at F and
BF produced to meet the side AC in P. If
AP = AC then  will be :

(a)
1
4 (b)

1
2

(c)
2
3 (d)

1
3

23. The value of 0cos36  is :

(a)
5 1
4


(b)
5 1
4


(c)
1 10 2 5
4

 (d)
1 10 2 5
4



24. If (–5, 4) devides the line segment between co-
ordinate axis in the ratio 2 : 1 then equation will be
(a) 8 5 20 0x y   (b) 5 8 7 0x y  
(c) 8 5 60 0x y   (d) 5 8 57 0x y  

25. The product of perpendicular from two points

 2 2 , 0b a   to the line
cos sinax by ab     is :

(a) 2a (b) 2b
(c) ab (d) a/b

20. ,d 7 Hkqtkvksa okys cgqHkqt ls fdrus fod.kZ [khap
ldrs gSa %
(a) 11 (b) 12
(c) 13 (d) 14

21. (0, 0), (4, 0) rFkk (0, 3) ls cus f=Hkqt dk var%
dsUnz gksxk %

(a) (1, 1) (b) (1, 6)
(c) (6, 1) (d) dksbZ ugha

22. ,ABC  esa ;fn AD ekf/;dk fcUnq F ij dkVrh gS
¼cjkcj½ rFkk BF fdlh fcUnq P ij AC esa feyrk gSA
;fn AP = AC rks  gksxk %

(a)
1
4 (b)

1
2

(c)
2
3 (d)

1
3

23. 0cos36  dk eku gksxk %

(a)
5 1
4


(b)
5 1
4


(c)
1 10 2 5
4

 (d)
1 10 2 5
4



24. ;fn fcUnq (–5, 4) fdlh funsZ”kk{kksa dks 2 % 1 ds
vuqikr esa foHkkftr djrh gS] rks lehdj.k gksxk %
(a) 8 5 20 0x y   (b) 5 8 7 0x y  

(c) 8 5 60 0x y   (d) 5 8 57 0x y  

25. nks fcUnqvksa  2 2 , 0b a   ls

cos sinax by ab     dh yEc nwfj;ksa dk
xq.kuQy gksxk %
(a) 2a (b) 2b
(c) ab (d) a/b
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SCIENCE

26. nks cYc 100 okWV] 220 oksYV rFkk 60 okWV]
220 oksYV esa ls fdl cYc dk izfrjks/k vf/kd
gksxk %

(a) 100 okWV

(b) 60 okWV

(c) nksuksa cjkcj gS

(d) dksbZ ugha

27. 3 izfrjks/k esa /kkjk dk eku ,d ,fEi;j gSA
2 izfrjks/k esa /kkjk dk eku D;k gksxk %

2

3

6

1 A

(a) 1 ,fEi;j (b) 2-5 ,fEi;j
(c) 1-5 ,fEi;j (d) 1-4 ,fEi;j

28. ,d n.M pqEcd dks Lora=rkiwoZd yVdk;k x;k gS]
bldk mŸkjh /kzqo bafxr djsxk %
(a) mŸkj fn”kk (b) nf{k.k fn”kk

(c) iwoZ fn”kk (d) if”pe fn”kk

29. fuEu esa /kkjk dh lgh fn”kk ,oa /kzqork dkSu iznf”kZr
djrk gS %

(a) N S (b) NS

(c) SN (d) N S

26. Two bulbs are rated as 100 watt 220 volt and
60 watt 220 volt. Filament of which bulb has
greater resistance :
(a) 100 watt
(b) 60 watt
(c) Both have equal resistance
(d) None

27. Current in 3 resistance is 1 Ampere. Current is
2 resistance will be :

2

3

6

1 A

(a) 1 Amp (b) 2.5 Amp
(c) 1.5 Amp (d) 1.4 Amp

28. A bar magnet is suspended freely. Its North pole
indicates towards :
(a) North (b) South
(c) East (d) West

29. Polarity and direction of current are shown in
figure. Which one is correct :

(a) N S (b) NS

(c) SN (d) N S
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30. Speed of a sound wave in 340 ms–1 and its
frequency is 1000 Hz. Speed of sound. Frequency
of another wave is 2000 Hz. Its speed will be :

(a) 680 ms–1 (b) 170 ms–1

(c) 340 ms–1 (d) None

31. A mirror can make real image of same size of
object the mirror is

(a) Convex (b) Concave

(c) Plane (d) b and c both

32. Rocket works on the principle of conservation:

(a) mass (b) energy
(c) momentum (d) none

33. A lift is going up with constant speed of 2 ms–1

and a lift is going down with same constant speed.
Two persons A and B are standing in I and II lifts
respectively. Both will experience :

(a) their weight increased

(b) weight decreased

(c) unchanged weight

(d) A experiences increased weight B,
experiences decreased weight

34. Speed of sound in air is 340 ms–1. Minimum
distance for hearing echo will be :

(a) 34 m (b) 17 m

(c) 51 m (d) 340 m

30. ,d /ofu rjax dk osx 340 ms–1 rFkk bldh vkof̀Ÿk
1000 Hz gS] fdlh nwljh /ofu rjax dk mlh ek/;e
esa vkof̀Ÿk 2000 Hz gSA bldk osx gksxk %

(a) 680 ms–1 (b) 170 ms–1

(c) 340 ms–1 (d) dksbZ ugha

31. ,d niZ.k mlh vkdkj dk okLrfod çfrfcEc cuk
ldrk gS rks niZ.k gS%

(a) mRry (b) vory

(c) lery (d) b vkSj c nksuksa

32. jkdsV ftl laj{k.k ds fl)kUr ij dk;Z djrk gS] og gS %

(a) nzO;eku (b) ÅtkZ

(c) laosx (d) dksbZ ugha

33. ,d fy¶V Åij dh vksj 2 ms–1 ds fu;r osx
ls tk jgh gS] rFkk ,d fy¶V uhps dh vksj
mlh fu;r osx ls mrj jgh gS] nks O;fDRk A ,oa B
Øe”k% I ,oa II fy¶V esa [kM+s gSa] nksuksa vuqHko djsaxs %

(a) mudk Hkkj c<+ x;k gS

(b) mudk Hkkj de gks x;k gS

(c) mudk Hkkj vifjofrZr gS

(d) A dk Hkkj c<+k gS] B rFkk dk ?kVk gS

34. ok;q esa /ofu dh pky 340 ms–1 gSA izfr/ofu lquus
ds fy;s U;wure nwjh gksxh %

(a) 34 eh- (b) 17 eh-

(c) 51 eh- (d) 340 eh-
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35. ,d Vªd tks 72 km/h ds osx ls tk jgk Fkk] czsd
yxkus ij mldk osx 2 sec. esa 54 km/h gks tkrk
gSA ;fn Vªd dk nzO;eku 800 kg gS rks czsd ds }kjk
yxk;k x;k cy gksxk %

(a) 500 N (b) 1000 N
(c) 2000 N (d) 2500 N

36. blesa dkSu lh /kkrq dejs ds rkieku ij nzo gksrk
gS %

(a) czksehu (b) vk;ksMhu

(c) edZjh (d) IysVhue

37. blesa dkSu jklk;fud ifjorZu ugha gS %

(a) yksgs ij tax yxuk

(b) nw/k ls ngh cuuk

(c) fd.kou

(d) cQZ dk fi?kyuk

38. fyVel isij vEy {kkjds lwpd ds :i esa iz;ksx
gksrk gS] bls izkIr fd;k tkrk gS %

(a) ykbdsu (b) “kSoky

(c) dod (d) blesa dksbZ ugha

39. lkcqu jklk;fud :i ls gksrk gS %

(a) olh; vEy dk yo.k

(b) vdkcZfud vEy dk yo.k

(c) lk/kkj.k {kkj

(d) lk/kkj.k vEy

40. blesa dkSu feJ.k ugha gS %

(a) dk¡p (b) feV~Vh

(c) gok (d) ghjk

35. A truck is going with speed of 72 km/h is applied
with a brake so that its speed reduces to 54 km/
h in 2 sec. the force applied by break is (weight
of truck is 800 kg).
(a) 500 N (b) 1000 N
(c) 2000 N (d) 2500 N

36. Which one of the metals are liquids at room
temperature :
(a) Bromine (b) Iodine
(c) Mercuries (d) Platinum

37. Which one of the following is not chemical
change
(a) Rusting of iron
(b) Curdling of milk
(c) Fermentation
(d) Melting of ice

38. Litmus paper used in acid base indicator obtained
from
(a) Lichen (b) Alge
(c) Fungi (d) None of these

39. Soaps is chemically :
(a) Salt of fatly acid
(b) Salt of inorganic acids
(c) Simply base
(d) Simply acids

40. Which is not a mixture :
(a) Glass (b) Soil
(c) Air (d) Diamond
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41. Correct order of number of electron in following
ions N–3, Na+, Cl– is :
(a) 10, 10, 18 (b) 7, 10, 18

(c) 5, 10, 17 (d) 7, 11, 17

42. In which reaction is H2 acting as oxidising
agent :
(a) CuO + H2   Cu + H2O

(b) H2 + Cl2   2 HCl
(c) Ca + H2   CaH2

(d) WO3 + 3H2   W + 3H2O

43. Amalgams are :
(a) Highly coloured alloys
(b) Always in liquid state
(c) Alloys which contain Hg as one of the

constitutents
(d) Alloys which have great resistance to

abrasion

44. Which process is not involved in the oxidation
(a) Addition of O2

(b) Removal of H2

(c) Removal of electron
(d) Gain of electron

45. The element X 2 2 6 2 51 2 2 3 3s s p s p    reacts
with Y (atomic no. 1) to form

(a) XY2 (b) X2Y
(c) XY (d) None of the above

41. N–3, Na+, Cl–  es a bysDVª kuk s a dk lgh Øe
gS %

(a) 10, 10, 18 (b) 7, 10, 18
(c) 5, 10, 17 (d) 7, 11, 17

42. blesa fdl vfHkfØ;k esa gkbMªkstu vkDlhdkjd ds
:i esa dke djrk gS %

(a) CuO + H2   Cu + H2O

(b) H2 + Cl2   2 HCl
(c) Ca + H2   CaH2

(d) WO3 + 3H2   W + 3H2O

43. vEyxe gksrk gS %

(a) mPp jaxhu feJ /kkrq
(b) nzo voLFkk esa feJ /kkrq

(c) og feJ /kkrq ftlesa ,d ?kVd ikjk gksrk
gS

(d) og feJ /kkrq tks [kjksap ds fy, mPp izfrjks/kh
gksrk gS

44. dkSu lh izfØ;k vkWDlhdj.k esa ugha gksrk gS %

(a) vkDlhtu dk la;ksx

(b) gkbMªkstu dk fudyuk

(c) bysDVªku dk fudyuk
(d) bysDVªku dk xzg.k

45. ,d rRo X ftldk by sDV ª kfud foU;kl
2 2 6 2 51 2 2 3 3s s p s p    rRo Y  ls fØ;k djrk gS]

ftldk ijek.kq Øekad ,d gSA rks curk gS %

(a) XY2 (b) X2Y

(c) XY (d) blesa ls dksbZ ugha
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46. The breakdown of pyruvate to give carbon
dioxide, water and energy takes place in :
(a) Cytoplasm (b) Mitochondria
(c) Chloroplast (d) Nucleus

47. Movement of food through Oesophagus is due to :
(a) Peristolysis
(b) Lubrication by saliva
(c) Gravitational pull
(d) All of the above

48. The correct pathway of blood in circulatory
system is :
(a) Atria   Ventricles   Arteries   Veins
(b) Ventricles   Atria   Veins   Arteries
(c) Ventricles   Veins   Arteries   Atria
(d) Veins   Ventricles   Atria   Arteries

49. Respiration is a process in which :
(a) Energy is stored in the form of ADP
(b) Energy is released and stored in the form of

ATP
(c) Energy is consumed
(d) Energy is not released at all

50. Lenticels are :
(a) a part of chlocenclyma
(b) a portion of the periderm (bark) with

numerous inter cellular spaces
(c) Aerial sclerenchyma
(d) inner covering of seed

46. ikb:osV ds fo[k.Mu ls dkcZu MkbvkWDlkbM] ty
,oa ÅtkZ dk mRltZu dh izfØ;k laiUu gksrh gS %

(a) dksf”kdk nzO; esa (b) ekbVksdkWfUMª;k esa

(c) DyksjksIykLV esa (d) ukfHkdh esa

47. vkgkj uyh esa Hkkstu dk foLFkkiu gksrk gS %

(a) Øekdqapu }kjk

(b) ykj dh fpdukbZ ls

(c) xq#Rokd’kZ.k cy }kjk

(d) mijksDr lHkh

48. #f/kj ¼jDr½ dk jDr lapj.k iz.kkyh esa izokg dk
lgh Øe gS %

(a) vfyUn  fuy;   /keuh  ul

(b) fuy;  vfyUn  ul   /keuh
(c) fuy;  ul   /keuh  vfyUn

(d) ul  fuy;  vfyUn   /keuh

49. “olu ,d izfØ;k gS] ftlesa %

(a) ÅtkZ ADP ds :i esa lafpr jgrh gS

(b) ÅtkZ dk mRltZu ,oa lap; ATP ds :i
esa

(c) ÅtkZ dk {k; gksrk gS

(d) ÅtkZ dk dksbZ mRltZu ugha gksrk

50. ysUVfly gS %

(a) DyksjsUdkbek dk ,d fgLlk

(b) Nky ¼isfjMeZ½ dk ,d Hkkx tks vla[; vUrj
Ård fjfDr;ksa ls Hkjh gksrh gS

(c) ok;q nz<+ksŸkd

(d) cht dk Hkhrjh ijr
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PART - II
GENERAL AWARENESS

51. The place which was related to Sea-
trade :
(a) Harappa (b) Kalibanga
(c) Dhaulavira (d) Lothal

52. The total no. of Upanishads are :
(a) 108 (b) 106
(c) 110 (d) 112

53. Megasthenes came in which Emperor’s Court :
(a) Chandragupta Maurya
(b) Ashoka
(c) Harsha
(d) Kanishka

54. Who is known as the Napolean of India :
(a) Samudragupta (b) Skandagupta
(c) Kumargupta (d) Chandragupta

55. Alberuni was a noted historian in which
Emperor’s ruling period :
(a) Balban
(b) Mahmood Gajnavi
(c) Akbar
(d) Firoz Tughlak

56. Musician Tansen lived in which Emperor’s Court :
(a) Akbar (b) Shahjahan
(c) Babar (d) Jahangir

51. flU/kq lH;rk dk og LFky tks leqnz O;kikj ls
lacaf/kr Fkk %
(a) gM+Iik (b) dkyhcaxk
(c) /kkSykohjk (d) yksFky

52. mifu’knksa dh la[;k fdruh gS %
(a) 108 (b) 106
(c) 110 (d) 112

53. esxLFkuht fdlds njckj esa Fkk %

(a) pUnzxqIr ekS;Z
(b) v”kksd
(c) g’kZ
(d) dfu’d

54. Hkkjr dk usiksfy;u fdls dgk tkrk gS %

(a) leqnzxqIr (b) LdUnxqIr

(c) dqekjxqIr (d) pUnzxqIr izFke

55. vyc:uh fdlds “kkludky esa bfrgkldkj
Fkk %

(a) cycu
(b) egewn xtuoh
(c) vdcj
(d) fQjkst rqxyd

56. laxhrdkj rkulsu fdlds njckj esa jgrk Fkk %

(a) vdcj (b) “kkgtgk¡
(c) ckcj (d) tgk¡xhj
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57. How did the British got Mumbai :
(a) On defeating the Portuguese
(b) As a dowry on Marriage
(c) On making a treaty with Mughal Emperor
(d) As a gift from the Marathas

58. The civil disobedience movement was taken back
in 1930 :
(a) After Gandhi Irwin Pact
(b) After atrocities commit ted by Lord

Wellington
(c) After the first Roundtable Conference
(d) After Nehru’s proposal

59. Who was the first women chief-minister of an
Indian state :
(a) Suchita Kripalani (b) Vijay Lakshmi
(c) Amrita Kaur (d) Sarojini Naidu

60. Oath of Allegiance to Governor is administered
by chief justice of the High Court whereas chief
minister of a state is administered the oath of
allegiance by :
(a) Prime Minister (b) President
(c) Governor (d) Chief Justice

61. How many schedules are there in the Indian
Constitution?
(a) 11
(b) 12
(c) 13
(d) None of these

57. vaxzstksa dks cacbZ dSls feyk\

(a) iqrZxkfy;ksa dks gjkdj

(b) fookg ds ngst ds :i esa

(c) eqxy lezkV ls laf/k djds

(d) ejkBks ds migkj ds :i esa

58. 1930 bZ- esa lfou; voKk vkanksyu okil fy;k
x;k %

(a) xk¡/kh&bjfou le>kSrs ds ckn

(b) ykMZ osfyaxVu ds neu ds ckn

(c) izFke xksyest lEesyu ds ckn

(d) usg: izLrko ds ckn

59. Hkkjrh; jkT; dh igyh efgyk eq[;e a=h
Fkh %

(a) lqfpr dìykuh (b) fot; y{eh iafMr

(c) vèrk dkSj (d) ljkstuh uk;Mw

60. jkT;iky dks “kiFk mPp U;k;ky; dk eq[;
U;k;k/kh”k fnykrk gS rks eq[;ea=h dks “kiFk dkSu
fnykrk gS %

(a) iz/kkuea=h (b) jk’Vªifr

(c) jkT;iky (d) eq[; U;k;k/kh”k

61. Hkkjrh; lafo/kku esa fdruh vuqlwfp;k¡ gSa\

(a) 11

(b) 12

(c) 13

(d) buesa ls dksbZ ugha
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62. Finance Commission is established by :
(a) Prime Minister
(b) President
(c) Finance Ministry
(d) Planning Commission

63. What is black money?
(a) Non performing stock of capital
(b) Active money
(c) Unaccounted money
(d) Easily earned money

64. Which country’s border is longest with India?
(a) Bangladesh (b) China
(c) Bhutan (d) Pakistan

65. The longest road bridge of Asia i.e. Mahatma
Gandhi Setu built on Ganges river is located at :
(a) Kolkata (b) Mokamah
(c) Mumbai (d) Patna

66. Where the diamond mine in India located at?
(a) Uttar Pradesh (b) Karnataka
(c) Madhya Pradesh (d) Gujarat

67. Which city in India is known as the Silicon Valley
of India?
(a) Hyderabad (b) Banglore
(c) Mumbai (d) Chennai

68. Halley Comet Star is visible after how many
years?
(a) 72 (b) 76
(c) 74 (d) 84

62. foŸk vk;ksx dh LFkkiuk fdlds }kjk dh tkrh gS\
(a) iz/kkuea=h
(b) jk’Vªifr
(c) foŸk ea=ky;
(d) ;kstuk vk;ksx

63. dkyk/ku D;k gS\
(a) /ku dk fujFkZd LVkWd
(b) lfØ; /ku
(c) csfglkc /ku
(d) lqxerk ls vftZr /ku

64. dkSu ls ns”k dh lhek lcls yEch Hkkjr ls tqM+h gq;h gS\
(a) ckaXykns”k (b) phu
(c) HkwVku (d) ikfdLrku

65. ,f”k;k dk lcls yEck lM+d lsrq egkRek xk¡/kh lsrq
xaxk unh ij dgk¡ fLFkr gS %
(a) dksydkrk (b) eksdkek
(c) cEcbZ (d) iVuk

66. Hkkjr eas ghjs dh [kku dgk¡ fLFkr gS\
(a) mRRkj izns”k (b) dukZVd
(c) e/; izns”k (d) xqtjkr

67. dkSu lk “kgj Hkkjr dk flfydku oSyh dgykrk
gS\
(a) gSnjkckn (b) caxykSj
(c) eqEcbZ (d) psUubZ

68. gsyh iqPNy rkjk fdrus o’kZ ckn fn[kkbZ nsrk
gS\
(a) 72 (b) 76
(c) 74 (d) 84
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69. fdl ns”k dks ^mxrs gq, lw;Z* ds :i esa tkuk tkrk
gS %
(a) phu (b) n- dksfj;k
(c) tkiku (d) U;wthyS.M

70. fdl unh dks phu dk “kksd dgk tkrk gS\
(a) ;kaxRls (b) g~okax&gksa
(c) lkYohj (d) veqj

71. buesa ls dkSu O;fDr jsyos dk u;k ps;jeSu fu;qDr
fd;k x;k gS\
(a) iznhi dqekj (b) ,- ds- feŸky
(c) uohu V.Mu (d) ,- ds- iqfr;k

72. fdlku fodkl i= loZizFke dc tkjh fd;k
x;k---- \
(a) 1 vizSy] 1990 (b) 1 vizSy] 1988
(c) 1 twu] 1990 (d) 1 twu] 1988

73. ,d fizUVj dh mRiknu esa xq.koŸkk dks ekik tkrk gS %
(a) Dots per inch
(b) Dots per line
(c) Dots printed per unit time
(d) mi;qZDr lHkh

74. 5oha ih<+h ds dEI;wVj] vU; ih<+h ds dEI;wVj esa D;k
QdZ iM+rk gS\
(a) Technological  advancement
(b) Scientific code
(c) OOPS
(d) mi;qZDr lHkh

75. fuEu esa ls dkSu vkmViqV fMokbl gS\
(a) ykbV isu (b) ekml
(c) dhcksMZ (d) fizUVj

69. Which country is known as the land of the rising
Sun?
(a) China (b) South Korea
(c) Japan (d) Newzealand

70. Which river is called the Sorrow of China?
(a) Yangtse (b) Hwang-Hei
(c) Salvir (d) Amur

71. Who among the following is the new chairman
of the Railways board?
(a) Pradeep Kumar (b) A.K. Mittal
(c) Navin Tandon (d) A.K. Putia

72. For the first time, Kisan Vikas Patra was launched
on ....?
(a) 1st April 1990 (b) 1st April 1988
(c) 1st June 1990 (d) 1st June 1988

73. The output quality of a printer is measured by :
(a) Dots per inch
(b) Dots per line
(c) Dots printed per unit time
(d) All of the above

74. What difference does the 5th generation
computer have from other generation computers?
(a) Technological  advancement
(b) Scientific code
(c) OOPS
(d) All of the above

75. Which one of the following is output device?
(a) Light Pen (b) Mouse
(c) Keyboard (d) Printer



SPACE FOR ROUGH WORK

MAJOR KALSHI CLASSES PVT. LTD. 16

SAMPLE TEST PAPER Class - 10

ENGLISH
Directions (76-80) : In the following questions some
parts have an error and some have none. Find out the
parts which are labelled a, b, c. In case of No error
choose the part ‘d’. Mark your answer in answer sheet.
76. He(a)/ is having(b)/ many friends here.(c)/ No

error(d)
77. Drinking and driving(a)/ are(b)/ a major cause

of accidents.(c)/ No error(d)
78. The committee is thinking not to(a)/ bring around

any change(b)/ in the basic structure.(c)/ No error(d)
79. I want(a)/ that you should(b)/ perform well.(c)/

No error(d)
80. Ask her to call him(a)/ when she(b)/ will come

back.(c)/ No error(d)
Directions (81-85) : Read the passage carefully and
choose the best answer to each question out of four
alternatives and mark it in the answer sheet.

PASSAGE
To avoid the various foolish opinions to which

mankind is prone, no superhuman brain is required. A
few simple rules will keep you free, not from all errors,
but from silly errors. If the matter is one that can be
settled by observation, make the observation yourself.
Aristotle could have avoided the mistake of thinking
that women have fewer teeth than man, by the simple
device of asking Mrs. Aristotle to keep her mouth open
while he counted. Thinking that you know, when in
fact you do not, is a bad mistake, to which we are all
prone, I believe myself that hedgehogs eat black beetles,
because I have been told that they do; but if I was
writing a book on the habits of hedgehogs, I should
not commit myself until I had been one enjoying this
diet. Aristotle, however, was less cautious. Ancient and
medieval writers knew all about unicorns and
salamanders; not one of them thought it necessary to
avoid dogmatic statements about them because he had
never seen one of them.

81. The author portrays mankind as :
(a) very intelligent
(b) having superhuman qualities
(c) nervous and weak
(d) by and large, lazy and ignorant

82. The author is in favour of drawing conclusions
on the basis of :
(a) reasoning
(b) study of eminent thinkers
(c) empirical evidence
(d) discussion and consultation

83. According to the author, unicorns and
salamanders :
(a) existed in the past but now have become

extinct
(b) are invisible
(c) never really existed
(d) have caused strange stories to be written

about them
84. The author implies that :

(a) hedgehogs eat black beetles
(b) hedgehogs do not really eat black beetles
(c) he is writing a book about hedge hogs
(d) he is never seen a hedgehog eating beetles

85. The attitude of the author is :
(a) philosophical (b) scientific
(c) cultural (d) commonsensical

Directions (86-90) : In the following questions out of
four alternatives, choose one of the best expresses the
meaning which are given and mark in your answer
sheet.
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86. Nurture
(a) foster (b) curse (c) bless (d) take

87. Eternal
(a) perpetual (b) vanishing
(c) forgetting (d) balmy

88. Fascinated
(a) enchanted (b) puzzled
(c) confused (d) good enough

89. Jubilant
(a) enjoy (b) noisy
(c) exhilarated (d) zeal

90. Lenient
(a) liberal (b) severe
(c) hard (d) oppressive

Directions (91-95) : In the following questions, out
of four alternatives choose one opposite word and
mark your answer in answer sheet.
91. Dejected

(a) depressed (b) cheerful (c) brave (d) enjoy
92. Sublime

(a) harsh (b) rough (c) nice (d) tender
93. Dilapidate

(a) Grand (b) bad    (c) ruined (d) spoiled
94. Genuine

(a) original (b) primitive
(c) imposter (d) bogus

95. Concord
(a) reasonable (b) disturbed
(c) ordered (d) logical

Directions (96-98) : In the following questions
some parts have been jumbled up. You are required to
rearrange which are labelled P, Q, R, S
to produce a correct sequence of sentence.

Choose the correct sequence and mark in answer sheet.
96. It is well-known that

P : on children Q : of cinema
R : is very bad S : the effect
The correct sequence is
(a) PRSQ (b) QPRS (c) RPSQ (d) SQPR

97. The essay
P : because their variety is infinite
Q : which is not easy to define
R : like that of the human face
S : is a literary form
The correct sequence is
(a) PRSQ (b) SQPR (c) RSPQ (d) QPRS

98. The Indian woman wants
P : her rightful place
Q : in a male dominated society
R : and an equal partner
S : and it is not too much to demand.
The correct sequence is
(a) PRQS (b) QSPR (c) RQSP (d) SPRQ

Directions (99-100) : Fill in the blanks of the following
sentence and choose one out of four alternatives mark
in your answer sheet.
99. He is very ........... in meeting of foreigners.

(a) anxious (b) find
(c) insistent (d) keen

100. We don’t know what .... him to commit this crime.
(a) excited (b) roused
(c) prompted (d) attracted


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ANSWER KEY

1. (d) 2. (d) 3. (d) 4. (c) 5. (d) 6. (a) 7. (c) 8. (c) 9. (c) 10. (b)

11. (b) 12. (c) 13. (b) 14. (c) 15. (b) 16. (b) 17. (d) 18. (c) 19. (b) 20. (d)

21. (d) 22. (d) 23. (b) 24. (c) 25. (a) 26. (b) 27. (c) 28. (a) 29. (a) 30. (c)

31. (b) 32. (c) 33. (c) 34. (b) 35. (c) 36. (c) 37. (d) 38. (a) 39. (a) 40. (d)

41. (a) 42. (c) 43. (c) 44. (d) 45. (c) 46. (b) 47. (a) 48. (a) 49. (b) 50. (b)

51.(d) 52. (a) 53. (a) 54. (a) 55. (b) 56. (a) 57. (b) 58. (a) 59. (a) 60. (c)

61. (b) 62. (b) 63. (c) 64. (a) 65. (d) 66. (b) 67. (b) 68. (b) 69. (c) 70. (b)

71. (b) 72. (b) 73. (a) 74. (a) 75. (d) 76. (b) 77. (c) 78. (b) 79. (d) 80. (d)

81. (d) 82. (c) 83. (c) 84. (d) 85. (b) 86. (a) 87. (a) 88. (a) 89. (d) 90. (a)

91. (b) 92. (b) 93. (a) 94. (d) 95. (b) 96. (d) 97. (d) 98. (a) 99. (d) 100. (d)
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